[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

1] F 2] 1]
X - x X
s S S
5 10°F = S
© - ° o
2 f 8 8 102
10°F =
E =]
o k=]
10°F
E 10%F
E 10¢
1=
=) - b o =}
2 ; g 2
ol e | gees
O'J(‘ 2 4 6 8 10 12 14 16 18 20 0 12 14 16 18 2 O'D 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x?
ropT3RIane-PRVEISISREINALS =
1] 2] 1]
X x X
S S S
5 10°E = £
[} (0] Q
E s g
10°k s
B s
103_ ',
e :
E J% Lt
o = e o) m o
2 ﬁ S - E e S g H ‘ 2
¢ [ dEE ey i | i
waiiE hIE




	Contents
	Page 1


